
MAGiC: STAP update October 23



Overview of the instrument

FE Choppers

Heavy Shutter

IB Guide

BWI Guide

Beamline 
Shielding

OoB Guide

BC Chopper

Polarizer 
+ Flipper

Experimental Cave

Control Hutches

JIB Crane

Detector A

Detector B
Polarization 

Analyzer

XYZ polarization

Sample station

Cryostat



Human Resources on-site

• Engineer bailed out last minute 
• Reassessing our needs with shifted timeline 

• Instrument scientist position 
• Job opening in ~3 weeks 
• Interviews in January 

• No dedicated IPL & technicians: 
• NSS to provide resources 
• Not as easy as expected/promised



Things that are late

• CEP & CUP 
• Highest priority 
• Documentation in progress 

• PSS, Hazard & Safety 
• In progress 
• Contact with Hazard & Safety team 

• Motion Control and Automation 
• Common project proposed by MCA 
• Would help us a lot !



• Bender ordered & support design finalised

Solid state bender



Choppers and monitor
BC 14 Hz 
Binder created

PSC 154 Hz 14 Hz discs

154 Hz discs Beam monitor



• PSC disk failure after 4 hours @ high speed (yesterday’s news) 

• Similar to DREAM hub problem: 4 months delay

Choppers and monitor



Guide system

• Arrived at ESS !
Lot 1 Lot 2

Lot 3

Lot 4



Vacuum housing

MAGIC-CH-01-04-000

MAGIC-CH-04-000

MAGIC-CH-01-02-000

MAGIC-CH-01-05-000

MAGIC-CH-03-200

MAGIC-CH-01-02-000

MAGIC-CH-01-03-000

MAGIC-CH-01-03-000

MAGIC-CH-01-03-000

MAGIC-CH-01-03-200

MAGIC-CH-03-000

MAGIC-CH-01-03-000

MAGIC-CH-01-03-000

HEA LONGEUR 3750 ACIER

Deux colonnes FIXES avec béton

Ensemble Mobile

Système Trait Plan

Système Point 

Point

Point

Plan (court)

Plan

Trait

Trait

5

6

4

1

2

3

Nota : -Pression de Fonctionnement <1.10-2mbar
-Taux Fuite Admissible <1.10-8mbar/l/s
-Pièces Dégraissées

BON POUR CONSULTATION

No. 
ARTICLE NUMERO DE PIECE DESCRIPTION MATIERE QTE

1 MAGIC-CH-01-03-000 
Poutre HEA 1

2 MAGIC-CH-01-02-000 1
3 MAGIC-CH-01-02-000 1
4 MAGIC-CH-01-05-000 1

5 MAGIC-CH-04-PILAR 
ASSY 1

6 MAGIC-CH-04-PILAR 
ASSY 1

Resp.technique
Traitement:

Modifications

Page: 1/2
Ce dessin est la propriété du Laboratoire et ne peut être

reproduit ou communiqué sans son autorisation.

Laboratoire Léon Brillouin
Groupe Développement Instrumental

C.E.A Saclay 91191 Gif Sur Yvette

Matière:Rugosité:

Ind.
Tolérances générales:

Date

26/07/2023

Dessinateur

Masse:

N° de plan + Indice

Echelle:

Format:

1:50

A3

3.2

MAGIC-CH-01-00-000 Ens. CARTER 1

Vérificateur

Observations:ISO2768mK

MAGIC CARTER HOUSING
CARTER 1
Ensemble 

Quantité:
1

\\132.166.60.149\user\PlansBE\ESS\ESS_MAGIC\MAGIC CARTER HOUSING NEW\PLAN MAGIC-CH\

5

1

3

8

10

9

} OU 

2

2

23

17

4

BON POUR FABRICATION

NOTA :

- Deux sous ensembles mécano-soudés à fabriquer
- Un pied version point, un pied version trait plan
- Sablage des pièces a peindre, peinture RAL7001 
Gris argent
- Annotations RAL 3020

6

11OU 

Trait

Plan

Point

Fournir les certificats matière pour toutes les pièces.

No.
ARTICLE NUMERO DE PIECE DESCRIPTION MATIERE QTE

1 MAGIC-CH-01-04-001

A FABRIQUER

S235

2
2 MAGIC-CH-01-04-002 2
3 MAGIC-CH-01-04-003 2
4 MAGIC-CH-01-04-004 2
5 MAGIC-CH-01-04-005 1

6 MAGIC-CH-01-04-006 E200 1
7 MAGIC-CH-01-04-007

S235
2

8 MAGIC-CH-01-04-008 2
9 MAGIC-CH-01-04-009

E200
1

10 MAGIC-CH-01-04-010 1

11 MAGIC-CH-01-04-011
S235

1
12 MAGIC-CH-01-04-012 8
13 COM-Beton PIED X

X

2

14
MAGIC-COM-
Goupille Norelem 
Type A 03105-10

2

15
MAGIC-COM-
Goupille Norelem 
Type C 03105-102

2

16 M16x120 Remote 
Handling Screw

A FABRIQUER PLANS :
ESS-0239042.1 et ESS-0239043.2 TITANE 8

17
MAGIC-COM-
Goupille Norelem ref 
03400-060402

COMMERCE REF : NORELEM 03400-
060402

ACIER zingué

2

18 Vis H M8- 30

COMMERCE

8

19 Vis H M8- 20 4

20 Vis H M8- 40 2

21 Rondelle plate 
normale série M d= 8 24

22 Rondelle plate 
normale série M d= 3 4

23 ESS-0411383-
Lifting_Eye_M16

COMMERCE : CERTEX
REF JA.8271013-M16 x 2

24 Vis H M3- 8 COMMERCE ACIER zingué 4

SK

Resp.technique
Traitement:

Modifications

Page: 1/16
Ce dessin est la propriété du Laboratoire et ne peut être

reproduit ou communiqué sans son autorisation.

Laboratoire Léon Brillouin
Groupe Développement Instrumental

C.E.A Saclay 91191 Gif Sur Yvette

Matière:

PL

Rugosité:

Ind.
Tolérances générales:

Date

27/07/2023

Dessinateur

MT

Masse:
182KG

N° de plan + Indice

Echelle:

Format:

1:20

A3

3.2

MAGIC-CH-01-04-000 F1

Vérificateur

Observations:ISO2768mK

MAGIC CARTER HOUSING
CARTER 1

Sous ens. PIED

Quantité:
2

\\132.166.60.149\user\PlansBE\ESS\ESS_MAGIC\MAGIC CARTER HOUSING NEW\PLAN MAGIC-CH\



Heavy shutter

• At ESS since July. 

• Installation in November (binder in progress)



Experimental cave

• Installation start in Nov-23 

• Binder created 
• MShield in charge of most of the 

actions 
• No IPL on-site yet, in discussion with 

Gabor 

• Radiation safety difficulties: calculations 
not accepted by licensing (software issue 
…) 

• Polished floor installed at the end of 
construction (promising tests in progress 
at MShield)



Sample station and support

Support table 
3T load

Support table 
2T load

Sample station 
x, y z + 𝜔

Detector B

Detector A

Analyzer

• Design effort on support table 

• Tendering document for collimator in progress



Detector B
- Modules at ESS (Utgard) for integration with DetG 

- Great help from CDT !



Polarization analysis (PSI)
• Offers for wafers and coating received 

• All offers above budget 
• 300 k€ above for 75% coverage 
• 800 k€ above for 100% coverage 

• Discussions in progress with NSS 
• Technical review by P. Deen (pushing for 100% option) 
• Budget discussion between NSS and PSI (contingencies)



Polarization analysis (PSI)
• Scientific scope can be achieved with both options 

• Cons: 
• Two detector positions for the same Q-space coverage => factor 2 loss 
• 20 k€/day cost inefficiency in operation 
• 2 SUMO modules from detB must be uninstalled to protect them from 

direct beam when moving analyzer => cost inefficiency



Still some work in progress

FE Choppers

Heavy Shutter

IB Guide

BWI Guide

Beamline 
Shielding

OoB Guide

BC Chopper

Polarizer 
+ Flipper

Experimental Cave

Control Hutches

JIB Crane

Detector A

Detector B
Polarization 

Analyzer

XYZ polarization

Sample station 
Collimator

Cryostat

Delivered 
sub-TG3 passed 
Not started

VH housing



When will it be installed

TG5 HC

Installation 
Nov-23

End of project 
Q2-25

First neutrons 
Q1-26


